Bl autotec QUICK-CHANGE

QC-10B

&
5'1—:?%% E(] u&éjj_ft (QC-10B-M-K20A)
KEIEWR, FeEFa5TAEEM, BdXMEEFX
;Ean..ﬁ’ll\o

PLA S PR AR B2 A4
ARAMBEFRVATRAT MK S RENAT, .
ERBESEELHAHNERLT, TRETABTIAZNE. ‘ e® o

IR#

(QC-10B-T-K20A)

FRIFM
ANRAERFEE (M3x25) x4
' - TEAL A B AT H 1
KB ORE. MRFIRLLH B
BREERKL.
[EZHM%]
AIRIZ E 2 (FE E f1 1) 98N(10kg) 45 | K10A maEe 3Ax10 4 (1245 F)
EBNREE +0.01mm i | K20A Max.3A DC50V 3Ax20 4 (12451 F)
ARG WHEH [ (T Ty) | 49N-m(500kgf + cm) K10 R IR 3Ax10 (I 1m §4)
H4E H#EFE (Tz) 68.6N-m(700kgf * cm) K20L 3Ax20 M (TE 1m §£)
BE N (KE 0.49MPa) X1 970.8N(99kgf)
MR & N
IA#& B A& (RENEES HRER)
SME R (815 ) ©50xH38.5mm
FRES E== 245g
(AfEER) THE#Z 859
SEHAITHR SWEREML T
NEPESE 0.39~0.68MPa(4~7kgf/lcm?)
FIFRE - REEE 0~50°C +35~90% (% &)
B |aE7L M5x67k
[BSRSHIEHE]
EiE
QC-10B -M- OOICIC
ik

Qc-10B -T- [0

XXXA | ZRSES

K10A | BSES101 (25T )
K20A | BSES204(RBHF)
K10L | BSES10 (FE InS4)
K20L | BSES201 (R InS4)

QC-10B5QC-10ARH Eifklt. #HEiEEAL R
QC-10AMM SESHRARERIE. MXLFRSIESHEWARS.

[AEEIMERTE]
oFy VREAF L—ti20T]
®»3HT78®S5 PCD4Q ﬂ oKy b SVY
; 4x3. 5*) PCD4Q oy MRAAT L b
&, N v
= (B 74 ! .
spmaEe—t e . —— Co B CIEMR)
M3®5 oy N 2=74 ) 7 ERER— b e
usNE | EXMGS&S i <l oXy FREAR
W\ ) @ 475500 64L5HT
TR / BAESES— b BEESIV57 b T oy 7 SRECEAE, 2 4mmOMBTEEL LIDTE LT £E0,
o = L > M3®5 [0, | RNAA] OB [TA] SNITE @mm| v—w70— tOCRA
m ™ - O 7 B%0 35O B B HBE 2. 5+0. 1 TE @ALTEL)
= P MR OV v 7% 3 0 ORAICH 2B
R gg %% R 4XM3 (=T r— bR OV 7 E%630~035 1 thdha 4. 5x0. 1 i)
T T
=L —Phh | couFu— b EERETRHSATLET)
$50 Jr: i
o 035
¢45h7 " £530 0
I 1 [ — (AS568#026)
— — - ( S
o © Ca ©a® )
F4—FYIRTAT=2 o it E © =
200 @] R & E? F% <25 Fu—p
= (QC—10B-M-K10A)
A g
[©) o m
! ) © ©
1
\ $50 Nevszt70y2
SBAX10F (hoeF)
36 y—w-FL—}
= = (QC-10B-T-KI10A)

37

$6HT®E8 PCD4O

4LxMB6%8 PCD4O (%%)
4FE @< RS - U— M3 ARV CRERMSERVEMI3IX25) A&
¢ ZSHBES BAFTEY MSY3-15) 1AEFRMGLTHEDET,

(MizQC— 1 0B—K 1 0AICTER @I R b OBFMFEMNERT. TmmTY, (V=T r—ERDES)

[fEiEH]
W SESEMR

o - el

K10A K20A K10L K20L
|3mm¢(ﬁﬁﬁ¥> I3M%¢(E%ﬁ¥) 3Ax104 (FB1mSL%) 3Ax204 (FB1mB%)

‘ BMEEMAFANE, BFREREER. ‘

(1) BENARFEAEFEMBENS], EHAAT IR BRENE SREERRIT—ERIFBE.

e i SR ok
I H S e

\
4

20kg
40kg
60kg
70kg
100kg
150kg
220kg
300kg
0 i
iz &
# 18]
%

300kg




G QUICK-CHANGE®

NEW!

Robot Interface Plate

D QUICK-CHANGE®

4xM5IR)L MR
. - ~
for e 2% @5 HTE 2x%|\/|£gﬁ)bl~ﬁﬁ/\ 5 HIR10 4B
2% 4 holos #5H7 Dp10 4 holes for
2x P 5H7 through oles Tor M5 hex socket bolt

2 equidistant

207, 25° M5 hex socket bolt
4 equidistant

@45 H7®10.5
©45H7 Dp10.5

4 equidistant

@49
™ @72
10
2 o
Master plate 05 % 0 N
(QC-10B-M-K20A) 0 o H L| 0)
' 2 d ok »
3itich
St
Load capacity (rated load) 98N (10kg)
Positional repeatability %1 +0.01mm @50
Allowable ‘ Bending direction (Tx.Ty) | 49N-m (500kgf + cm) ?50
dynamic moment ‘ Twisting direction (Tz) | 68.6N-m (700kgf + cm)
Coupling force (with air pressure of 049MPa) %2 970.8N (99kgf)
Materials ‘ Master plate Stainless steel
. ‘ Tool plate Aluminum alloy (The lock/unlock mechanism s stainless steel)
Overall dimension (when coupled) @®50XH38.5mm
“APi03 AP104
. Tool plate (Main dody) | Tool plate 859
. (QC-108-T-K20A) Self-separating mechanism Ball-locking mechanism BxMATIL MR
Required air pressure 0.39~0.68MPa (4~7kgf/cm?) x4 HIE 8%&5 \) N IxM5R)L HE_HT'\
Allowable temprature and humidity ranges 0~50°C. 35~90% (Non-condensing) 2%R 8 holes for 8FBL T AT
Utilities | Pneumatic ports M5x6 gx@{l;?tthr;)ugh 2250 M4 hex socket bolt 7 holes for
equidistan s 8 equidistant M5 hex socket bolt @5 HTE10

8 equidistant
7 locations

®5H7 D

10

62 HT3E8
®62H7 Dp8
949
269 )
& - 0.5
0?_4(&)0 05 @ °'_%° @ ©
Type AP101 AP102 AP103 AP104 0 &"J ; g 4 F*J 9 -
PCD 315 60 56 315 #50
Bolt size M5 M5 M4 M5 50
Hole for locating pin 2X ¢ 5H7 ¢ 5H7 2X ¢p4H7 d5H7
ese dhe 6 12h7 b45H7 b62H7 6 20h7 Xglr; jln;r:!g?gré?;\?;;:iglzé?ar;d1 23(())3 on robots and AP104 on master plate,
Boss Height or Depth Height 3mm Depth 10.5mm Depth 8mm Height 3mm
Accessories M5X10 (4 pcs) M5X15 (4 pcs) M5X10 (4 pcs) M5X10 (7 pcs)
(Bolts and pin) MSY5-15 (1 pc) MSY5-15 (1 pc) MSY4-15 (1 pc) MSY5-15 (1 pc)
mo BANDO GROUP 3-17, Mei dori, 3-ch H ku, Kobe, 652-0883, J
WEight 799 ( Bolts 7pCS) -1/, Melwa-aori, 3-chome, Ayogo-Ku, Kobe, = , Japan
. . 71 68 130 ¢ \ -78-682- -78-682-
(Including bolts and pins) 9 g 9 689 (Bolts 7pcs) .BI-‘ BI_ AU TOTEC' LT D. -{JEIL_:J;?t:):;av?\?v.zbfg}titeiéﬁjgs1 78-682-2614

G Bl. AUTOTEC,LTD




